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HOW ELECTROMAGNETIC CHARGES ADD UP

CHARGED OBJECT

and Lorentz law:
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F=gqgE+qgvxB
Electric Magnetic
force force

CURREN T IN A WIRE

Magnetic field

Follows Ampere’s law:

Magnetic field at wire 2 from
current in wire 1:
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F=1,ALB

on a length AL of wire 2:

ELEMENTAL CHARGE
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Follows right hand rule
& simplified force:

F=kq1qz @
r
| k=1,7x10%° !
€ - === F---->

and s:mpllﬁed Lorentz law

F = qE qva

Electric Magnetic
force force



New atomic model proposal

Charged particles does not act as charged objects, they follow simplified electrostatic force:

2 I
E - ke e o= CqumbscoT\stant _ m v2 = 1,699 X 10% [Nm/c?]
r Bohr radius e2
By using such a force which follows inverse law, and not
. bal inverse square law, electrons may have the same speed in
forces - a';?f different orbits, this explains why we observe an electron
or every orpi haze and not Bohr’s electron shells.
_ kez ' mv? . :
= — = — Explains why we observe this
Electric force = Centrifugal force and not this: ¥ j
A"°V‘_’5 same SPe_Ed Light is then not emitted by electrons quantumly jumping between
for dnferent orbits specific orbits, but electrons going from one quantized speed to an-
(valid for all r) other. Acceleration emits light and deceleration absorbs light.
In a cyclotron charged accelerating particles also emits light.
mv2eZ my2 m v2 - m v2 _mev2 v2,y_hec
Ep = e2n2  n2 EK=—on? St = o Ak 2 'n2 n2/ )

e=charge=1,610"C m = electron mass=9,1*10" kg v =2188045 m/s h =6,626%10*Js € =299792458 m/s
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